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When do they argue; when he sets aside a place, etc.

OVERVIEW

The >71nX7 X2°X maintains that regarding 72777 >7%¥2 70N, all agree that he pays nn
npomw (for it is considered prin mwo2 W); the argument between 2R 27 is
where the owner set aside part of his domain for the 2°237 nwA. Our N1BOIN
explains the meaning of opn nx¥pn, and what is the reasoning behind the np1omn
between 27 (who maintains 2p» 7%p» is M00) and XMW (who maintains 2°°17).

= ©5390 MY 227 IWPIPN NN VY TINY ©1IY
Dpn 1X¥pn means that he retreated into his property and left some of his land

for the people who walk in the 2",
= 157%9 OY MOLYY NN NN 999 D290 MHIYA %1 19 ORT INMYA PPINY X

But it does not mean that he abandoned his property, for then it would be a
complete 2" (and all would agree that he 1s 75 [for it is 7"'772 Jw]), but rather
he left that land open (he did not build up to his property line) in order to

(occasionally) spread out his fruit on this open land -
-‘ov 1909 ©%290 NHVYA 22D MY Y OV M99 PRY 11T U HaN

However, as long as there is no fruit there, the people of the ='% have
permission to walk there. This concludes the description of 2"71% 2pn mxPR.

mooIn will now explain the differing opinions of P& 27:
- >3350 92 9YINY P95 PN %9598 0290 MY IV 2UNT 9INT 297 XDNID 122701

And we (may) conclude regarding the argument that 29 who maintains that by
DPn a¥pna it is considered 2''77M2 3w (and he is MwY), this is valid even if the

animals cannot eat from this 217» 7¥p»n without 91197, nevertheless he is 7o -
= 297 AN 1IN NINNY 9T NDT

For it is not similar to N9t by 7279577 97X where 27 maintains that he is 21 -
= PN 98N D22IVYNI 1191 DD 711D DN DY) DN NANIN Y TINT

Because 721977 573 are higher than the 7277 and are wide and separated from
the 72r7 and therefore are considered as 15177 971 (especially since the 7272 can eat

! However, if he would never allow the 1" "12 to walk there, all would agree that it is considered P13 2x1.
2 mooin differs from *"wA in this. See 7¥pPna "7 2"wa who states; 129X 32123 17 7R oW 70101
? Mmoo may derive this from the syntax of the X723 which states N X% W' (that he is 72r77 782 2°1), however
DPn AX¥pn is e (even if Dpn AXPRY NIMR).
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from it only through ™7n) -
= ©5390 MY NIN MY DIPN N¥PN YaN

However by 0pn 1xpn, the left open space is level with the 2''719, so it cannot be

considered p117 7xn, but rather part of the 7"77 -
= PTIIN 98N M1 INMYHA PNMN MDY DIVN NAN 99N HININIYY

However, >X»w maintains that by 21p» 7%pn he is 2%, since the n17°s are lying
in his domain, so it is P11 9% -
$NYEN DINTH MNNAY MY YIY 9 DY 9N

Even though the animals have permission to tread near this area, nevertheless it
still remains his property.

SUMMARY

DPn 7¥pPn means he allows the 7"77 °12 to walk in this open area adjacent to the
7"77 when he is not using it. According to Dpn AXPR 27 1s MWD even NI V"'V since
it is level with the 2"717 (it is considered 2";17), while YX1W maintains that he is 2°°17
since it always remains his domain.

THINKING IT OVER

1. moon stated previously* that if the P11 i both have permission for their oxen
to be there, but only the Pl has permission to have his M7 there, it is not
considered P17 MwA. Why is it that here, where the 21 has permission for his ox
to be there, and nevertheless it is considered 17377 NI (according to ’7&17312/)?!5

2. How do we reconcile the reasons maoin gives for 2Xmw1 11 respectively, with
the reasons the X3 gives® for Yxmw 217’

4215 X9 7"7 'on R,
> See TMvNI WM WX # 83.
® See on the '2 7.
" See v 79°K ,N5w 1M 772 AR MR AT on N2
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